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CURRENT  AUDITING  

Current Auditing has been .unsettled due to the sudden break through on R3-MX. 
What I was looki...g for was 

(1) A process that invariably cleared pct easily; 

(2). That had very precise and invariable rules: 

(3) That could be taught by rote: and 

(4) Would, not be subject tio rchange.. 

This .process turned out to be P.3-MX. The..X ,at. this writing is dropped as the 
process has proven itself and it becomes Routine 3-M. The designation of 'M" is 
simply its consecutive letter in the development series, but it could stand for 
"Mary Sue" as she did the actual auditing under rely direction that proved its rules. 

The rules of 3-MX were Worked out in Routine 2-12 and 2-12A and then by examining 
Rocket Reading Item behaviour in 3-MX. 

The first thing you should know about 3-M is that it is more precise. in application 
than any process you have handled. When it says "List the Tone Arm Action out and 
then 25 Items more" it means exactly that. (Surges of the needle: don't- count in TA 
action as you couldn't follow thorn with the TA and back that fast).:. When R3 -M says 
"List 25 Items beyond the last RR or RS on a list" it means 25, not 24. 

In 3-M it says Rocket Reading Item and that's what it means, And a Rocket Read 
is a Rocket Read not a fall. 

R3-M is therefore a masterpiece of precision. Do it wrong - not exactly by the 
rules and it becomes a real nightmare. So know it before you do it, and do what it 
says only. 

In both R2-12A and R3-M an Item can appear anywhere  on a source  list so long as 
2 Items do not RS or RR. One Item RSiti, and one Riling also means list is incomplete. 

oethi, vow-iNd goal opp list (the 3-M Source List) you have to make sure list is 
complete to 50 Items beyond last RSin or Riling Item and 50 beyond no Tel action point 
(where TA stops moving). This is true for both 3-M and 2-12A. You read every 
RRing Item back to pc from the 3-M Source List (goal opp) and every RSing `rem on the 
2-12,1 source list. 

A source list is of course the primary list from the goal from which you get 
the first Ruing R.I. In 2-12,1 the source list is what you choose to get your first 
list freP or List One.. 

All other lists in 3-M are extended 25 Items beyond the last RR or RS and the 
Item is always the last RR on the list.- if not you've goofed, didn't get the TA 
action out of this or the just prior list. In 2-12A you gc 50 Items beyond the 
last RS and 50 beyond the 1st still TA, 

The 8 tests for mass increase etc., must be done on every Item found in 3-M 
and 2-12A. 
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The best cov•raGes of R-3ivi are the RCO Bulletin , f 7•eb. 1, 1963, Routine 3, and 
the two hours of lec1-ure of Feb. 7,' . 1963 where it is covered. 	Dulletins end 'other 
lectures will be fortheo:mine. 

R2 -1`..!=t 

If 1'3-M. enierges.*c suddenly, thon . whe't of 	2-i0, 2-'12 and 2-12A? 

With the single caution that you must not t•y 	r,ecke! . .e.: a srea:1 IIS and only use 
a wide 	

,
aedial or more) as your ;ource. list': 	-.2;12e is very successful 

jest as laid delve.. It will contieue to be taveht, and used. In it you have sonic 
very precise ..;u1e.t,." 	list t• continued 	Ieures beyend the last I.S. Never 
represent an RSini•:Itom. ,,lways carry 	R.7,in;? RI arofind to a packai;e of 4. 
It is not impQrtant how you 	your first RI so long as• it d•dn't come from represen• 

an aSinf; Item. The last RS on the list .,,,posing; an P.I is the Riht Item, always 
unless yeu've i.,,00fed. There must not be 2 RSing•Ite. - ras en''a list.(except List One 
where you ehe ,.. o the bie . - est 2S es -yeur first id), If tv,e) appear, your list is 
incoqlelete er . yett let the pe.(esyou must never -1o).'ite.present'an:RIZ'or iig he's 
ficatd 	seen on the list. 

You4en't nal in 2-12A (:r 	M) you just reael the rime 	last;' then the last tiS 
or 	Item. 

, the RS :;tabbe;:: 	List One issee 	will 
aocksl!tielners sit t..,neit .".n,!, Let t 	The pr•ce.ss is v;Iluable. 	Therefore it 
must i..‘e 	end 0..e4. 

• Rut 	is even costar 1.•14.:1 2• 	 ruttst b tan.Lint in Academies 
an.:2..1;ie,! in 

! ,:.ectsses, 

(1) The CCHs. 

(2) Assists. 

(3) ae.1 	t;ness 

(4)  

(5)  

i'roblerus. Inter‘givas. 

( 7 ) R2 -12A 

( 6)•R':.-; 

KLow these zum yz,u ,:;an :irach or han..:13 	caLe 

Itn 	thc..:m. 	1'11 (It.. 7,1y bent 	make al_ the r.lat'a availa'bl'e. 

RON HUIIDARD 
CopyriOtt(e).la63 
ay 1.,..12(.1n 

RIGHTC RI.1 .613RVI:L• 
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